
Производная

Вычислить производную функции при x = 1.
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Задача 5.1. 34

Вычислить производную y(x) при x = 1.

y = (x + 3 ln(3x − 2)) x−1 +
6x + 7

3x − 2

Задача 5.2. 34

Вычислить производную y(x) при x = 1.

y =

(

2
sin(πx)

π
+ 5x2

)

ex−1 +
5 + 7x3

5x3
− 4

Задача 5.3. 34

Вычислить производную y(x) при x = 1.

y = (2
√

x + 7) x2 +
8x + 2

3x − 2

Задача 5.4. 34

Вычислить производную y(x) при x = 1.

y = (2
√

x + 7) x−1 +
6x2 + 2

4x2
− 3

Задача 5.5. 34

Вычислить производную y(x) при x = 1.

y = (2
√

x + 3) x4x +
2x + 3

4x − 3

Задача 5.6. 34

Вычислить производную y(x) при x = 1.

y = (2
√

x + 7) x−1 +
5x2 + 3

4x2
− 3

Задача 5.7. 34

Вычислить производную y(x) при x = 1.

y = (x + 4 ln(3x − 2)) x−1 +
4 + 5x3

4x3
− 3

Задача 5.8. 34

Вычислить производную y(x) при x = 1.

y =

(

2
sin(πx)

π
+ 6x2

)

ex−1 +
9x2 + 6

2x2
− 1

Задача 5.9. 34

Вычислить производную y(x) при x = 1.

y = (3 ln(x) + 6x2) x4x +
6 + 7x3

4x3
− 3

Задача 5.10. 34

Вычислить производную y(x) при x = 1.

y = (x + 5 ln(2x − 1)) x4 +
6 + 2x3

5x3
− 4



Задача 5.11. 34

Вычислить производную y(x) при x = 1.

y =

(

2
sin(πx)

π
+ 7x2

)

x2x +
8x2 + 7

2x2
− 1

Задача 5.12. 34

Вычислить производную y(x) при x = 1.

y = (2 sin2(x − 1 + π/4) + 2x) ex−1 +
3x + 7

2x − 1

Задача 5.13. 34

Вычислить производную y(x) при x = 1.

y = (2 ln(x) + 5x2) x5x +
4x + 5

5x − 4

Задача 5.14. 34

Вычислить производную y(x) при x = 1.

y = (e2(x−1) + 7x) x2 +
7x + 7

3x − 2

Задача 5.15. 34

Вычислить производную y(x) при x = 1.

y = (x + 4 ln(4x − 3)) x4 +
4 + 4x3

4x3
− 3

Задача 5.16. 34

Вычислить производную y(x) при x = 1.

y =

(

3
sin(πx)

π
+ 5x2

)

x−1 +
5 + 5x3

5x3
− 4

Задача 5.17. 34

Вычислить производную y(x) при x = 1.

y = ctg(x − 1 + π/4) ex−1 +
9x + 6

3x − 2

Задача 5.18. 34

Вычислить производную y(x) при x = 1.

y = (2 sin2(x − 1 + π/4) + 3x) x4 +
6 + 2x3

2x3
− 1

Задача 5.19. 34

Вычислить производную y(x) при x = 1.

y =

(

2
sin(πx)

π
+ 3x2

)

ex−1 +
3x2 + 3

5x2
− 4

Задача 5.20. 34

Вычислить производную y(x) при x = 1.

y = (2 sin2(x − 1 + π/4) + 4x) x2x +
9x + 5

2x − 1



Задача 5.21. 34

Вычислить производную y(x) при x = 1.

y = (e2(x−1) + 4x) x4 +
4 + 2x3

5x3
− 4

Задача 5.22. 34

Вычислить производную y(x) при x = 1.

y = (2 sin2(x − 1 + π/4) + 3x) x−1 +
2x2 + 6

2x2
− 1

Задача 5.23. 34

Вычислить производную y(x) при x = 1.

y = (2
√

x + 3) x−1 +
7 + 3x3

3x3
− 2

Задача 5.24. 34

Вычислить производную y(x) при x = 1.

y = (e3(x−1) + 3x) ex−1 +
8x2 + 3

4x2
− 3

Задача 5.25. 34

Вычислить производную y(x) при x = 1.

y = (2 tg(π + 1 − x) + 1) ex−1 +
8x2 + 7

4x2
− 3

Задача 5.26. 34

Вычислить производную y(x) при x = 1.

y = (x + 5 ln(3x − 2)) x3 +
7x2 + 7

5x2
− 4

Задача 5.27. 34

Вычислить производную y(x) при x = 1.

y = ctg(x − 1 + π/4) ex−1 +
6 + 8x3

3x3
− 2

Задача 5.28. 34

Вычислить производную y(x) при x = 1.

y = (e2(x−1) + 7x) x−1 +
9x2 + 7

5x2
− 4

Задача 5.29. 34

Вычислить производную y(x) при x = 1.

y = (2 sin2(x − 1 + π/4) + 4x) x3x +
6x2 + 4

3x2
− 2

Задача 5.30. 34

Вычислить производную y(x) при x = 1.

y = (3 ln(x) + 5x2) x−1 +
3x2 + 5

4x2
− 3



20.11.2009 Ответы

5.34

Производная

1

1 9 -33 -24
2 13 -159 -146

3 19 -22 -3
4 -8 -52 -60
5 21 -18 3

6 -8 -54 -62
7 12 -93 -81
8 16 -42 -26

9 39 -135 -96
10 15 -114 -99

11 26 -44 -18
12 7 -17 -10
13 37 -41 -4

14 25 -35 -10
15 21 -84 -63

16 2 -135 -133
17 -1 -36 -37
18 21 -42 -21

19 7 -54 -47
20 16 -19 -3
21 26 -84 -58

22 1 -28 -27
23 -4 -81 -85

24 10 -72 -62
25 -1 -104 -105
26 19 -126 -107

27 -1 -102 -103
28 1 -142 -141
29 21 -48 -27

30 8 -58 -50


